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TOURISM ADMINISTRATION AND MANAGEMENT
PAPER -1l

Note :

This paper contains seventy-five (75) objective type questions. Each question

carries two (2) marks. All questions are compulsory.

1. What is the main cause of arrival of
monsoon in India ?
(A) Low atmospheric pressure belt in
the Western India
(B) Location of Himalayas in the North
(C) Low atmospheric pressure belt in
the North-West
(D) Low atmospheric pressure belt in
the North-East

2. In the Himalayan range which state has
the highest percentage of coniferous
forest cover ?

(A) Uttarkhand

(B) Himachal Pradesh
(C) Jammu and Kashmir
(D) Arunachal Pradesh

3. The Typical feature of tourism is that

(A) The tourist spot is neat, clean and
attractive

(B) Tourists have to pay lots of money
to visit various tourist spots

(C) The tour operator help his
customers

(D) Tourists have to be physically
transported to tourist spots

4. Do you consider that Internet is a vital
part of the infrastructure for tourism ?
(A) Yes, bookings of airlines and hotels
can be done online
(B) No, It only exchange messages and
does nothing else

(C) May be, it may become a powerful
force to reckon within the tourism
operations in future

(D) Not much useful as an infrastructure

K-1113 @

5. Profit maximisation is mainly concerned
with
(A) Earning more profit before tax
(B) Maximising Earnings Per Share
(C) Giving higher dividends to
shareholders
(D) Earning more profit after tax

6. The objective of dividend policy
decision is

(A) To pay higher dividends to
shareholders

(B) To strike a balance between
present earning V/s future earning

(C) To capitalise the profit for mobilising
resources for the company

(D) To maximise the shareholders’
wealth

7. Assertion A : One always sees the
same face of the moon.

Moon is a satellite of the
earth.

Reason R :

Codes :
(A) Both (A) and (R) true and (R)
explains (A)
(B) Both (A) and (R) are true, but (R)
does not explain (A) completely
(C) (A) is true, but (R) is false
(D) (A) is false, but (R) is true
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8. Assertion A : India, though a very vast
country with all its
diversifications in physical,
climatic, natural vegetation,
wildlife, monuments,
history, culture, cuisine
etc. but it is unable to
attract a large number of
tourists compare to a
much smaller countries
like Thailand, Malaysia,
Singapore etc.

ReasonR: It is due to mainly
inhospitality shown to
tourists.

Codes :

(A) Both (A) and (R) are individually
correct, (R) gives a correct
explanation

(B) Both (A) and (R) are individually
true, but (R) gives an incomplete
reasons

(C) (A) is true, but (R) is false

(D) (A) is true and (R) is also true

9. Match the following List | with List II.

List| List Il

A) Bengal 1) Rangoli
B) Maharashtra 2) Alpana
C) Tamil Nadu 3) Mandana
D) Rajasthan 4) Kolam
Codes :

A B C D
(A) 2 1 4 3
(B) 2 3 1 4
(C) 3 2 4 1
(D) 4 1 3 2
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10. Match the following List | with List II.

List| List Il
A) Adventure 1) Pattadakal,
Tourism Hampi

B) Heritage Tourism 2) Rameswaram
C) Cultural Tourism  3) Mount
D) Island Tourism Everest

4) Bangaram

Codes :
A B C D

(A) 4 1 2 3

(B) 1 2 3 4

(©) 2 3 4 1

(D) 3 1 2 4

11. Which of the following is not a ‘Rabi’ crop ?

(A) Wheat (B) Rice

(C) Barley (D) Lin seeds

12. Name the state in which “Rock Climbing
and Mountaineering” are main attraction

for tourists
(A) Uttar Pradesh (B) Rajasthan
(C) Sikkim (D) Uttarkhand

13. State, which one of the following is true

(A) The travel agent takes commission
from the tourist.

(B) Scuba diving and Snuba diving are
the same.

(C) The valley of flowers is located in
Uttaranchal.

(D) The tourists ought not to mix
business with tourism.
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14. Which one of the following is a travel
deterrent ?
(A) Good transport infrastructure at the
tourist spot

(B) Money available for tourism

(C) Airport transfer facilities

(D) Lack of language compatibility in a
foreign country

15. Which one of the following is not of
significance in the context of an
Accounting Equation ?

(A) It clears the distinction between the
proprietor’s claim and creditor’s
claim.

(B) It clears the concept of balance
sheet.

(C) Itclears the concept “What to invest
and where to invest”.

(D) It clears the concept of total assets
of a firm.

16. Which one of the following equations is
considered while determining the room
rent for a hotel ?

(A) Estimated cost of operation

Total number of available rooms
(B) Estimated cost of operation +
Expected fair return on investment

Total number of available rooms
that can be let out

(C) Estimated cost of operation +
Expected fair return on investment

Total number of available rooms
(D) Estimated cost of operation

Total number of available rooms
that can be let out
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17. Assertion (A) : Tourism is a combination
of various products and
services. To succeed in
tourism market, products
and services are to be

properly defined.
Reason (R) : However, ‘Service
Feature’ is not the major
characteristic of the
tourism industry.
Codes :

(A) Both (A) and (R) are true

(B) Both (A) and (R) are true, but (R) is
not the correct explanation

(C) (A) is true, but (R) is false

(D) (A) is false and (R) is true

18. Assertion (A) :Taj Mahal is not the
perfect example of
Mughal architecture.

Reason (R) : It shows the zenith of
Mughal art, which has been
profoundly influenced by
the Persian and Indian art
forms.

Codes :

(A) Both (A) and (R) are true

(B) Both (A) and (R) are true, but(R) is
not the correct explanation

(C) (A) is true, but (R) is false

(D) (A) is false and (R) is true
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19. Incase of transport, the price elasticity is
expressed as

(A) Price elasticity =
% change in price
% change in travel time

(B) Price elasticity =
% change in demand
% change in price

(C) Price elasticity =
% change in quantity
% change in price

(D) Price elasticity =
% change in price
% change in fuel cost

20. Dangerous goods are divided into, how
many different hazard classes ?

(A) 6
(B) 5
(C) 8
(D) 9

21. Which is the city in Karnataka connected
by rail, road, sea and air ?

(A) Karwar
(B) Udupi

(C) Mangalore
(D) Manipal

22. Which of the following is not resource of
Eco-Tourism ?

(A) Mangroves

(B) Coastal cities

(C) Caves

(D) Mountains and Forests

K-1113
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23. Water transportation has long been
important, because

(A) Iltis the fastest means of
transportation

(B) Itis the cheapest means of moving
heavy goods

(C) Goods may be delivered directly to
factories

(D) Itis available everywhere

24. Mention the period of blowing south-west
monsoon winds in India.

(A) All the year round
(B) From October to January
(C) From June to September
(D) From April to July

25. Organisation structure mainly refers to

(A) How activities are co-ordinated and
controlled

(B) How resources are allocated
(C) The location of departments

(D) The policy statements developed by
the firm

26. The school of thought exemplified by
Joan Woodward says that

(A) Size is the most critical element of
structure

(B) Technology is the most critical
determinant of structure

(C) Structure follows strategy

(D) Strategy follows structure
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27. Match List | with List Il and select the
correct answer from the codes given

below :
Listl List Il
(States) (Tourism centres)
a) Jammu and 1) Dwaraka
Kashmir
b) Himachal Pradesh 2) Rajgir
c¢) Gujarath 3) Vaishnadevi
temple
d) Bihar 4) Manali
Codes :
a b C d
(A) 1 2 3 4
(B) 3 4 1 2
(©) 4 3 2 1
(D) 3 2 4 1

28. Match List | with List Il and select the
correct answer using the codes given

below :
Listl List Il
(Leading producing country) (Commodity)
a) China 1) Natural rubber
b) India 2) Milk
c) South Africa 3) Iron ore
d) Thailand 4) Gold
Codes :
a b C d
(A) 1 2 3 4
(B) 4 3 2 1
(®)] 3 2 4 1
(D) 2 3 1 4
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()

29.

30.

31.

32.

33.

34.

Total Number of Pages : 24
‘Rack rate’ in hotel parlance means
(A) Special discounted room rates

(B) Regular rate that a hotel publishes
for information of clients

(C) Room rate specially quoted for
foreigners

(D) Room rate with 50% discount

Which among the following is the news
letter of IATO ?

(A) Travel messenger
(B) IATO imprint

(C) IATO Biz

(D) Meghdhooth

Badami, a historical place is situated in
one of the districts

(A) Gadag
(C) Bagalkote

(B) Bellary
(D) Bijapur

Which of the following is not a Union
Territory ?

(A) Lakshadweep
(B) Daman and Diu
(C) Nagaland

(D) Pondicherry

‘Duncan Passage’ lies between

(A) South Andaman and Little
Andaman

(B) South and Middle Andaman Islands
(C) North and Middle Andaman
(D) North and South Andaman Islands

India became a party to the International
Convention on ‘Biological Diversity’ in

(A) June, 1990  (B) May, 1994
(C) April, 2001 (D) May, 1996
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35. A guestchecksinto a hotelat 11 a.m. on
July 1, 2013. The hotel charges on the
basis of check-out time and its check-out
timeis 10 a.m. The room rent is Rs. 3,000
per day plus 10 % service charge. If the
guest checks out at 11 p.m. on July 2,
2013, calculate the amount payable by
him to the hotel.

(A) Rs. 3,000
(C) Rs. 6,000

(B) Rs. 3,300
(D) Rs. 6,600

36. What is Controlling as a principal function
of management ?

(A) Evaluating how well an
organisation has achieved its
goals and taking corrective action
when necessary.

(B) Supervising the activities of each
and every individual in the
organisation.

(C) Determining whether the actions
taken are as per the plans
formulated.

(D) Determining whether the important
goals of the organisation have been
achieved.

37. Match an item in List — | with an item in
the List—II.
List-1 List-1I
(Biosphere reserves) (State it is located)
i) Kanchanjunga 1) Meghalaya

i) Manas 2) West Bengal
iii) Nukrek 3) Uttaranchal
iv) Sunderbans 4) Assam
Codes :
i ii iii iv

(A) 2 1 3 4

(B) 3 4 1 2

(©) 4 2 1 3

(D) 1 3 4 2
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38. Match an item in List — | with an item in
the List —II.

List-1 List-1I
(Sea travel terminology) (Meaning of the term)

i) Alleyway 1) Round trip
ii) Free port 2) Passage way of the
ship
iii) NRS 3) A zone at seaport
where duty free
goods are sold
iv) R/T 4) Rate not specified
Codes :
[ i iii iv
(A) 2 3 4 1
(B) 4 3 2 1
©) 1 2 4 3
(D) 3 4 1 2

39. Which among the following is Asia’s first
certified five star ecotel (ecofriendly hotel) ?

(A) The Taj Hotel, New Delhi
(B) Capitol Hotel, Dubai

(C) Orchid Hotel, Mumbai

(D) Hyatt Regency, Singapore

40. The Commission of Railway Safety is
working under the administrative control of

(A) Ministry of Transport
(B) IRCTC

(C) Ministry of Civil Aviation
(D) Indian Railways

41. Ustad Amir Khan Samorah Music Festival
is annually conducted in one of the
following cities.

(A) Bhopal
(C) Lucknow

(B) Indore
(D) Srinagar
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42. If you wish to enjoy a camel safari, you
would have to go to

(A) Rann of Kutch (Gujarat)

(B) Pilani (Rajasthan)

(C) Sriganganagar (Rajasthan)
(D) Jaisalmer (Rajasthan)

43. What is the principal drawback of a JIT
(Just in Time) inventory system ?

(A) It requires very tedious procedures
to keep track of qualified vendors.

(B) Results in narrowing the choice of
qualified vendors.

(C) Leaves an organisation without a
buffer stock of inventory.

(D) Increases the complexity of
determining reorder points.

44. Which of the following statement is not
true about Schengen ?

(A) Schengen countries do not have
any frontier formalities for travel at
their respective borders.

(B) Bulgaria, Cyprus, Ireland and UK
are not members of Schengen
Union.

(C) A common visa policy of Schengen
Union was signed at Paris.

(D) Schengen Agreement was signed
in 1985.

45. How many islands together constitute
‘Lakshadweep’ ?

(A) 100
(B) 60
(C) 36
(D) 10

K-1113
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46. Calculate the total fare for the following.
Delhi to London (one way)

Base Fare 40,000 INR
Air-port transportation tax 10%
Departure tax 5%
Other taxes Nil

(A) 50,000 INR
(C) 55,000 INR

(B) 34,000 INR
(D) 46,000 INR

47. Assertion (A) : A newly set up travel
agency should aim at
achieving the Break-Even
Point at the earliest.

Reason (R) : The sales made after the
Break Even Point
contributes to the profit
of the firm.

Codes :

(A) (A) is correct, but (R) is wrong
(B) Both (A) and (R) are correct
(C) (A)is wrong, but (R) is correct
(D) Both (A) and (R) are wrong

48. Assertion (A) : As a market penetration
strategy a new product
may be sold at a price to
recover the marginal cost
of the product.

Reason (R): Marginal cost is the

increase/decrease in the
total cost when the
production is increased/
decreased by one unit.
Codes :

(A) (A) is correct, but (R) is wrong

(B) (A) is wrong, but (R) is correct

(C) Both (A) and (R) are wrong

(D) Both(A)and(R) are correct, but(R)

is not the correct explanation
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49. This consists of two lists of Airlines and
its hotel chain. The candidate has to
match an item in one list with an item in

the other.
List—1 List—1II
(Airlines) (Airline Hotel)
a) Air India 1) Meridian Hotels

b) Lufthansa 2) NIKKO Hotels
c) Air France 3) Centaur
d) Japan Airlines 4) Penta, Kempinski

Codes :
a b C d
(A) 1 2 3 4
(B) 3 1 2 4
(©) 3 4 1 2
(D) 4 1 2 3

50. This consists of two lists of Airlines and
the country to which it belongs. The
candidate has to match an item in one
list with an item in the other.

List-1 List—1I

(Airline) (Country)
a) Emirates 1) Australia
b) Lufthansa 2) Ireland
c) Qantas 3) UAE
d) Ryan Air 4) Germany
Codes :

a b c d

(A) 4 1 3 2
(B) 1 2 3 4
(C) 2 3 4 1
(D) 3 4 1 2

51. Madhubani painting originates from
which state ?

(A) Bihar (B) West Bengal
(C) Orissa (D) Gujarat
K-1113

()

Total Number of Pages : 24
52. When was the Artificial Suez Canal water
way opened for ship transport ?
(A) 1883
(B) 1848
(C) 1869
(D) 1863

53. Bibliography given in a research report

(A) Shows the vast knowledge of the
researcher

(B) Makes the report authentic

(C) Helps those, interested in further
research and studying the problem
from another angle

(D) Acts as index for the report

54. With a lower significance level, the
probability of rejecting a null hypothesis
that is actually true will

(A) Increase
(B) Decrease
(C) Remain the same

(D) Not be sufficient information to
make the decision

55. Favourable financial leverage occurs
when the

(A) Earning Per Share increases due
to the use of debt in the capital
structure

(B) Earning Per Share increases due
to the use of equity in the capital

(C) Earning Per Share remains the
same due to the use of debt in the
capital structure

(D) Earning Per Share remains the
same due to the use of equity in the
capital structure
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56. A supervisor believes in praising
subordinates when they are performing
correctly, even though it is difficult to do
it all the time. The supervisor prefers to
praise the correct behaviour of
subordinates at random. What is this
approach to motivation called ?

(A) Employee Empowerment
(B) Employee Need Satisfaction
(C) Employee Ego Satisfaction
(D) Operant Conditioning

57. Assertion (A) : Tourism has a huge
potential of generating
employment
opportunities.

Reason (R): Tourism creates direct
and indirect employment
opportunities for the host
community as well as
seasonal employment.

Codes :

(A) (A)is false, (R) is true

(B) Both (A) and (R) are true, but(R) is
not the correct explanation

(C) Both(A) and(R) are true, and (R) is
the correct explanation to (A)

(D) (A) is true, but (R) is false

58. Assertion (A) : Tourism is a service
oriented industry.

Reason (R) : Tourism is a labour

intensive industry.
Codes :

(A) Both (A) and (R) are true and (R) is
correct explanation to (A)

(B) (A) is true, but (R) is false

(C) (A) is false, but (R) is true

(D) Both (A) and (R) are true, but(R) is
not the correct explanation to (A)
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What is meant by Bay Islands ?

(A) Lakshadweep Islands

(B) Kaccha Tivu

(C) Andaman and Nicobar Islands
(D) Diego Garcia

Identify the earlier name of Ghana.
(A) The Ivory Coast

(B) The Gold Coast

(C) Mangolia

(D) The Levant

A person with Person of Indian Origin
(PIO) card gets visa in India for

(A) Six months
(B) Nine months
(C) Two years
(D) Five years

The Olympic Flame was for the first time
ceremonially lighted and burnt in a giant
torch at the entrance of the stadium at

(A) Athens Game (1896)

(B) Paris Game (1924)

(C) London Games (1908)
(D) Amsterdam Games (1928)

Real increase in income will be negative,
if money income growth is

(A) More than inflation
(B) Less than inflation
(C) Same as inflation
(D) Equal to deflation

If inflation is greater than the rate of
monetary interest, real rate of interest
will be

(A) Positive
(C) Neutral

(B) Negative
(D) Zero
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©TO 53,308 T eIRET,

@ﬁ%ma’ L DISpEAA) dmgdgie

STE0R TEIDRCIN TOTOD

m%—ﬁw &qﬁd@ 508,

DRSS,

5209 (R) :

RoFeSNLD ¢
(A) (A) 2 (R) 2TER RO
(B) (A) o3 33 32 (R) 50
(C) (A) o3 35 =23 (R) 0, =TS (R)
OO FOOINT QTTES 9.
(D) (A) =0 32 (R) ),
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68. o,—u’é,i— Il BT FONEROOT w_’éi— Ko}
QRO BROD.

w%—l ?J&i— |
a) W) RTATIRO 1) THF T
DD ENevblercto
b) =30 T =Y 2) QNS TOR)
QRO d@i
C) 3T BOT 3) %zsawmdo@mf
(R=F598) R eed
d) SeEnuz 4) WoRTVT
RVOTIVTIY, e;sodadzgojazﬁ
Ralc) 0TIV w@i
BOIRORIT)TO
0TI
a b C d
(A) 2 1 4 3
(B) 3 4 2 1
(C) 3 4 1 2
(D) 4 3 2 1

69. e—u’&i— Il 39S QDT RO ﬁ&i— e
QWO BROD.

w&i—l a’&é}— Il
a) &, SR 1) 03087 a8
b) 23R wo AT 2) TROTESF
BeE (Fowe) [T
C) %053 tHTT WOTN  3) &7 QT0H
QRO T3S
d) 85 2 4) m%ru?b#
Q0360 FOTY
ToFeSNLY :
a b C d
(A) 3 1 2 4
(B) 2 3 1 4
(C) 3 2 1 4
(D) 1 3 4 2
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65.

66.

The ‘Fairy Queen’ was a part of the
following railway system during the days
of British Raj

(A) North-Eastern Railway

(B) East India Railway

(C) British Railway

(D) Northern Railway

Assertion (A) : The responsibility of
maintaining Karnataka'’s
monuments are split
between the state and
central government.

Reason (R) : Archaeology is a subject
under the concurrent list
in the Indian Constitution.

Codes :

(A) (A)istrue, (R) is false

(B) Both (A) and (R) are true, but(R) is
not the right explanation

(C) Both (A) and (R) are true

(D) (A) is false, (R) is true

67. Assertion (A) : Cost of transport and the
time utilised in transit are
not the sole variables
that determine demand
for transport.

Reason (R) : Tourist will choose a
particular mode of
transport based on its
cost and the amount of
time required for travel
only.

Codes :

(A) Both (A) and (R) are true
(B) (A) is false and (R) is true
(C) (A)is false and (R) is true, but(R) is
not the right explanation
(D) (A) is true and (R) is false
K-1113
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68.

69.
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Match the items given in List | with the
items given in List |l below :

List—1 List-1I
a) Weighted average 1) Material

method control
b) Pay back period  2) Funds flow
statement

c) Perpetual 3) Issue of raw

inventory materials
d) Decrease in 4) Capital
working capital budgeting
Codes :
a b c d
(A) 2 1 4 3
(B) 3 4 2 1
(©C) 3 4 1 2
(D) 4 3 2 1

Match the items given in List |, with the
items given in List |l below :

List—1 List—1I
a) Double entry 1) Personal
account

b) Outstanding salary 2) Adjusting

entry
c) Reserve for 3) System of
bad debts accounting
d) TFCI 4) Public Ltd.
Company
Codes :
a b c d
(A) 3 1 2 4
(B) 2 3 1 4
(®)) 3 2 1 4
(D) 1 3 4 2
Paper Il



BN TR e, 1O 70 00T 75 TSI T[ING),
YUZOR :

LIOTS3) LSS #oﬂ@ﬁ@ﬁ 0= WeRWLE T T Nt
RRIQFATRORT. o), T,3C3RWANL WTET
QETLD T YT BT T3 OO FRORETIESS.
@’aa‘a@’@b%cf@w 355’%;3@ ST 0e300Y_, BRT
20TICWZT TEIHC BRNFTTFIT WRODY
WOT o) WETTHR), LPFOT (AN ) 308y
B, T eﬂzpa’g)&()p BRRELYYT T8, T, T
To%BEOI gm@’zﬁoéx cdaéﬁgscmmﬁemdd SOFT
TNTS FRENR 9200 ARINWT ResIozo0l) [
TR B30 Frieomd, LU WAFTORE Wng, AT,
VRIS 0B ATITRENN, T3y BT,
%dﬂ@oﬁa CDTR, TOITFITTHN €& BRT WSOF |
SRATINGS.

(A) FTFTR) RSO Reaws DR

(B) =50cTe BUBT SEAORITI

(C) w0m Toesecdd A, 208 DO,

(D) =Ronea woogemn/ wuesgeon
BRYRTOZT 0B BRTLOMIZT

71. 35 509,09 Q0T L2000 O30S SeRFS,
WTLTOTOTT, WOT ARNWT BT B
SRS (FTO) cBY,

(A) BERETO TTF) FLIwmNTOZT

(B) @e, QNI ASTTzmN
SERBRY PN

(C) LN LUTR,EN LR @&
TR AOR,0IRNT

(D) wEES 02y YT Aoer OF
BREMOZT
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72. ZRBET),
(A) TowrF® ATET
(B) 63 <R=0NSS
(C) achdspyent
(D) e_-a?,pe%@@ﬁ 933503

f&d@c” ARCL0ZT.

73. ROMFIIT ‘WER* TS ©5F
(A) eeReRs
(B) FHweamow,
(C) SPNFTdrs Qe
(D) wowdmewd

74. e TFO, LOUSTE RRRRT
RRIPBTID) TIDTIO3D
©Rg TN,

(A) SBEFT CRRNTS FRTO BT

(B) envess #033;71@ DNALENOVWSIEVRLLS
TRIL

(C) w0TC0T TSN MOERTOLFI)
ROPOIL

(D) 230 W30 DORLD

MmN

75. 5 09,0070 AOT O3 SeRFE,
WTWTBITIOTT, LT3 gmgm%
bovseveRevei i pleverlpe ol S
308 2.

(A) w&E=T, @sgpa ébdodf%er\’

(B) w@E3, w08 dcjaé EIAie]

(C) W@, ATREN, SHFF SARNTS
(D) ©RFT URENSE, ATTREN, (a0
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Read the following passage and answer the
question numbers 70 to 75 :

India is dedicated to free institutions and
principles of democracy. We are striving to
give everyone an opportunity and raise the
standard of living for all. A democracy is one
where people have the right to live their own
lives and develop themselves in their own
way under the guidance of their chosen
representatives. If our political democracy is
to succeed, it is essential that it be buttressed
by step towards economic equality or what
has been referred to as the ‘socialistic pattern
of society’. Poverty and unemployment hold
the biggest threat to the successful working
of our democratic system.

70. In a democratic system
(A) Government serves the people

(B) The Government is run by the
people themselves

(C) People do not have political freedom

(D) Commodities are freely bought and
sold

71. One may infer from the paragraph thatin
a socialistic pattern of society

(A) the socialist party dominates
(B) all the inhabitants are treated equal

(C) to provide employment to all is the
greatest problem

(D) to remove poverty and corruption

Total Number of Pages : 24
72. Democracy can fail if there is
(A) a weak government
(B) economic inequality
(C) unemployment

(D) opportunity for development

73. The word buttressed in the paragraph
means

(A) dictating
(B) declared
(C) guided
(D) supported

74. According to the passage, the socialistic
pattern of society is required in India to

(A) reduce economic inequality
(B) to ensure thriving of free institutions

(C) to improve the quality of chosen
representatives

(D) to raise the standard of living

75. One may infer from the paragraph that the
successful working of Indian democratic
system is under a threat of

(A) Poverty, illiteracy, unemployment

(B) Poverty, caste system, corruption

(C) Poverty, unemployment, economic
inequality

(D) Economic inequality,
unemployment, corruption
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